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(2)

(¢) What is an isoqu a.nt?
SRLATH & 2

(d) Define Engel cur ate
qUe I A i |

| o
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(3)

2. Answer the following questions : 2x5=10

o eppTgEd ed el
(@ Show that MC = TVC, -TVC, _;.
(ySql @ MC = TVC, -TVC, _;

(b) Distinguish  between explicit cost and
implicit cost.

mmwwmwwmwml

(c) What are .stable and unstable
equilibrium?

e ST SR

(d) How is elasticity of demand associated

with A Average Revenue and Marginal
Revenue? ‘

9T E 9FE AT SF, SRR ReweeeR
TS (FAT TS 7

(e) Point out the: differences between
marginal rate of substitution and
marginal rate of technical substitution.

AP fes TW ST JFRed AfoTw K
2T T[T AL SgferiR e |
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(6)

(b) For equilibrium, why should marginal
utility of money be equal to the ratio of
marginal utility to the price of each

10
good?
SN Aed A, Ahfd AR e
Tofrel oF WY SRS [F8 @E 2
TeerfaeE ST R’ el ?
Or / J<41
How would you derive demand curve
with the help of indifference curve
technique? : 10
fRCoTT @91 CRMER SRS Bl (1 (AL
EICK SRR
(c) Explain. various types of returns to
scale. 10
Tesire WK RS e SR 3¢ <4 |
Or / 91

Explain the ‘concepts of increasing
return, decreasing return and negative
return in case of variable proportion
production function. 10
RIS per®. Beorey wor crrs vl

el e 2ifewm, wepE efowe o
SIRIE AT (RCFB1 3efeqr o417 |

8A 363 :’ L
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(7))

(d) Explain how profit is maximized with
the help of Revenue and Cost analysis. 10

W WF W Reww T2Ee 9 @@ 144
T, AT

Or / 9241

Explain how a producer . attains
equilibrium under different budget
constraints. ‘

qE SRR [T s AT
AT SR A 6T, TR B |
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( Major )
Paper : 1.2
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Full Marks : 80O

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

I. Answer the following questions : 1x10=10
O ATHRI Tay forsy -
(a) What is meant by aggregate demand?
AT BifEA Se = 2

(b) What is Net National Income?

A WO W e 6 3o 2

8A/364 ( Turn Over )



(c)

(d)

(€]

(9)

(h)

8A/364

(2)

What is the relation of National InCOme
with Economic Welfare?

O SRR AT FeqI TS 3757 f o

Define effective demand.

Sty oifRwE Sikws] fo |

Give the meaning of autonomous
investment.

TR R o B |

What do you mean by paradox of thrift?
T A WA Ry

State Keynes psychological law of
consumption.

@m‘mﬁwm%mﬂﬁﬁwwu

What g meant by MEC (Marginal

Efficiency of Capital)?
T 21l v oo f e 2

( Continued)

AN



(3)

(i) Give the meaning of full-employment.

spef-faar oy fors |

() Outline the meaning of acceleration
principle.

@ o7 (31 99) 5 foran |

2. Answer the following questions : 2x5=10
TR eppTRd Ted o

() Which economist propounded the
principle ‘supply creates its own
demand’ and what does it mean?

AR A Pried frew wikn e g
¥ (Supply creates its own demand)
A e YRR, 7] Ao (2R =
TR Y 2

(b) What are the determinants of effective
demand?

wifery vt fefraeeaadl 8 12

8A/364 ( Turn Over )



(4)

(c) Give the difference between inducegq
investment and autonomous invest.-
ment.

For  REam W wmdEm R
(3 2feenfits) MES ey e |

(d) How can you explain the statement
MPC + MPS = 1?
MPC+MPS =1 @3 IS99 @is @R
AT 2 |

(e) Give two assumptions of multiplier
theory.

BT OGS o1 SfSHRey gy |

3. Answer any four from the following

questions : 5x4=20

Wﬁ@mvﬁﬁrm'mm:
(@)

8A/36
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(5)

(b) Outline the problems of National Income
Computation in developing countries.

TRFTE (PPTRS WO S S SRS
Hiolaal W |

(c) Discuss the basic features of Keynesian
consumption function.

@R T T Y7 CARERER Sl
S NI e

(d What is meant by investment
multiplier? Explain its relationship with
marginal propensity to consume.
RFETe @5 T B2 aRe @1 d9Ter
=5® R AT WG 0

(e) Give an idea of the factors affecting
consumption function. '

Toel TS SO (ORI TMIPRRY <6l
ST fra |

(i Write brief notes on the different types
of investment.

Rt RSH e A0 oY Gl forar |

8A /364 ( Turn Over )



(6)

4. Answer any four of the following questions :
10x4=40

oo R T wifRE e aw v

(@) What is National Income? Give a
comparative analysis of the various
methods of computing National Income
with their merits and drawbacks.

2+4+4=10

GO W A % 2 Srow S 11 3419 [fen
TAlOARR GBS e SIoRced] S
Q1 qF Ng=e! 7 |

(b} Discuss the théz)ry of effective demand

as put forward by Keynes. 10
(T HSRCEl T SIRAN Ogeol SCEDl
EaIN

(c) Give the main features of classical
theory of employment. What are its
drawbacks? 5+5=10

fAcer Sefe oebR aqm EREPTER |
2| ARmerye 9

8A /364 ( Continued )



(7))

(d) Define the concept of mar
of capital (MEC). Expl
affecting MEC.

%W‘RWWI

an the factorg

(e) Explain the working of the multiplier
with the help of a taple.

Give two
limitations of this Principle. 8+2=10
B IR SR 2 quiz B | @

AT 751 SRz |

(/ What are the assumptions of
acceleration principle? Write a note on

its working. R 2+8=10
w4 M wfSqEemas & & 2 2 o R
9BT (BT forT |

% %k %
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ECONOMICS
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Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

weTo fra epETRd el fal

(a) What is Giffen goods?
face @3 2

(b) What is real cost of production?
Teomes o45S 9 2

(c) Fill up the blank :

~ Indifference curve is ____to the origin.
SICIIRES MARRALE
faeers @ & R wee |

(d) What is isoquant?
ARGLAT 91 5 2

8A /320 ( Turn Over )
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(2)

(e) In which type of market, ‘selling cost
exists?

RGN T R I WP ?

() Who gave the concept of ‘quasi-rent’?

SR A’ (RN R SREIRRE 2

(g9 Who propounded the uncertainty bearing
theory of profit?

S HPDTO! I OGO (T HNRTICR ?

2. Answer the following questions : 2x4=8
Od PPTYRT ey i

(@) Define comparative static analysis in
Economics.

SEme weeReE (5T Rosge el

form 1

(b) What is meant by expansion path?
TP 1% Jfeicet 6 gen 9

() Mention two characteristics of oligopoly.
75 Rearer e 751 ¢ Seay

(d) Explain two factors which
wage,

determine real

8A/320
( Continued )



(3)

3. Answer any three of the following questions :

5x3=15
were fi epprped R e fofeor S firan

(@) Define equilibrium. Distinguish between
stable  equilibrium and unstable
equilibrium.

SPeR W@ il | . semer WR SR
STPTOR e 1T fore |

(b) What is indifference curve? Mention the
assumptions of indifference curve.

FRers @ [ e @R SRz
TEI(F g

(c) “The monopolist is a pricemakér.”
Explain the statement.

“ GO0 IR G W9 R 17 St
1 |

(d) What is production function? Distinguish
between returns to a factor and returns
to a scale. 1+4

T Tl 5 7 o1 Seoqmes Afone o NI9”
AT e ~1%F (g |

(e) Distinguish between economic rent and
quasi-rent.

ARG G WF T AN TS N1
e |

8A/320 ( Turn Over )



( 4)

4. Answer any three of the following questions :

10x3=30

TS o ererEa R e fefom Tew fi -

(@) Explain the concept of dynamic

- equilibrium mentioning its limitations. 6+4
SNREerTz TEy o sfoNE SRR AR
RIRHESEIR

(b) Explain the law of variable proportion. 10
RSN o R A 4 |

(c) Discuss income effect and substitution
effect with the help of indifference curve. 10

fRers @R rEe Ww ger Wi dfeEe
ST 0] 41 | |

(d) Explain how price and output are
determined under monopolistic

competition in the long-run with the help
of diagram.

G Ao e RwETe W
T (s R T =, e stere @
sl

10

(¢) What are the characteristics of a perfectly
competitive market? Show the distinction
~ between market price and normal price.

A dfSrafrene o AFErTE & & 2 Iom
N S IO WA AR A1 (g |

5+5

() Discuss the risk-bearing theory of profit.
Mention its shortcomings.

e HSIEI I TGO SCEs 90 | 2N

RSPt e 3941 |

5+5

8A—11*/320 3 (Sem-1) ECO
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ECONOMICS

( Honours )
Paper : ECO-HC-1026
( Mathematical Methods in Economics—I )

Full Marks : 80 .

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer of the following :

1x10=10
woTe fRAPTRR ww Tech! MR Bferet §o
(a) Which of the following two sets are
equal?

oo Al (@1 oI 3RS S ?

() A={1, 2}, B={a b}
(i) A={1, 2}, B={2, 1}
(i) A={1,2}, B={2}

(iv) A={1,2}, B={0, 1, 2}

1-21/51
/ ( Turn Over )



(b)

1-21/51

(2)

What is the Cartesian product A xB if
A ={], 2} and B = {aq, b}?

A={l,2} W¥ B={q b} ¢, INLRTA
0T AxB 3’99

@) {1 a), L b), 2 a, (2 b}

@ {a 1), (a 2), (b 1), (b 2)

) {1, 1), (@ a), 2 2), (b, b}

(iv) {L a9, b, 2 a, (b b}

If y=10 for every value of x, y can be
regarded as a function of x.

T x 3 2AfSCH 1 AT y=10 =W, (@ YT
x 3 T e A1 |

(i) True
Lo

(i) False
7]

(i) Partially true

LINE SO o)

(iv) Cannot be determined

P #Re IR

( Continued )



(3)

(d) Which of the following is an irrational

number?

SR (FTCO1 SR TR ?
() B++3)@-3)
(i) /64
(iii) 3
(iv) 64
2°43°

o

(e) Find
20;30 I ofered] |
i O
(i) 1
(iii) 2

1-21/51 ( Turn Over)



(4 )

dy
n find —=.
(g) Given that y=ax", HEE 5
g
w1 W Sfedr |
My=ax" T/
() nx"
(i) ax"
(iii) anx"!
(i) anx™*!

(h) Evaluate [e* dx.

J‘exdxﬁ@?’ﬁﬂ

() Inx+c
(i) x+c
(i) e* +¢

(iv) e+c

() [I0atis
[10at 2

(i) investment at time ¢
t TRI Rz
(i) capital Stock at time ¢

R R EE R
1-21/51 ( Continueq )



(5)

(iii) marginal investment
ofes Rf~cm
(iv) marginal capital
ofee Jo4
) 1f y=b*, then Yis
dx
M y=b"T], c\m%i’a

@ b*

(i) xP

(i) xInb
(iv) b*Inb

2. Answer any five of the following questions :
2x5=10

oo fra R I Sioht epe Ted fd -

(a) Draw the graph of y=x.
y=xJ Y RPN

(b) Find the subsets of the set {1, 2, 3}.
(1, 2, 3} RROBR ToPTRRRSE fors |

(c) Check the convexity/concavity of the
function f(x) = x? -3x+2.
fld=x2-3x+2 TAWH T& (WL
A3 41|

1-21/51 ( Turn Over )



(6)

(d) Define point of inflexion.
ISR g faa |

(e) Find the second order derivative of the
function y=15x2 -6x +2.

Yy=15x% -6x+2 FHGR BN W@

SRS ey 3941 |
(/) Find :
[CEREETIE
T i 5
x—a X
(g) Find :
ey 41
f:2x2dx

3. Answer any four of the following questions :

Sx4=20
TS il 2R R Qe wiReR Ty fay
(@) Distinguish between lim fx) and f(@). 5
lim f(x) 1% () 3 e oef forsy

(b) “A function must be a relation, but

a relation may not be g function.”
Explain. 5

91 T By STy 2Ty afom, fg @b sm
951 T 7 398 g | T 3 |

1-21/51 (Continued)



(7)

() A function is defined as follows :

BT T were fra e T (’eR
fl=x, x>0
=0, x=0
=-x, x<0

Show that it is continuous at x =0. 5

A @ x =0 Rrge 2 i |

(d) Find the elasﬁcity of dernand of the
demand function Q =100p?. 5

0=100p? T weR iR fEfeRrree
ey 11 |

() Given the total cost function
C=03-502% +12Q+75. Write out a
variable cost (VC) function. Find the
derivative of the VC function and
interpret the economic meaning of that
derivative. 2+2+1=5

i P TR FoM C=Q°% -507 +120+75
=, (o@ e I/ (VC) T Fement ol

GRS TS IR FANOR P ey 0
e R Ao s o |

() The sets A and B are such that A has
25 members, B has 20 members and
Au B has 35 members. Draw a Venn

1-21/51 ( Turmn Over )



(8)

diagram to represent the above situation
and find the number of members in the
set AN B. S

A I B 70 WRSI A 9T 25, BI A
20 W& AUBY A 35 T SR | 92
ARRESDT @R 9o coo g ww o
AN BT 0| ) g e

(g) Given y= f(x, x2)=(x12+5)(2x1—x%),

find Y and Y. D14 +2Ya=5
axl ax2

Y= flxy, x5) = (xf +5)@2x ~x2)3 AR

Y ar OY_ ety <41 |
axl a)C2

4. Answer any four of the following questions :
' 10x4=40
woTs firl 2P R e wifer Te fr -

(a) Geometrically derive the derivative %Ic

2

Find %‘E)f the function y = x“ using the

definition of derivative. 5+5=10
EIIRIcY W.wwm%%mm TGS

wmwa?ﬁy=x2wmﬁ%ﬁcfn$ml

1-21/51 ( Conﬁnued)



(9)

(b) Establish the relationship between
Average Cost (AC) and Marginal Cost
(MC) with the help of the product rule of

differentiation.

SR R e e TS O (AC)
o A o (MC) 3 W& 7o Fo 41 |

(c) Find : 2+2+2+2+2=10

g

3x
22

(ii) % [(3x +1og x) (6x2 - 7x)]

2
(i) %[x x+ 3]

of

(d) State and prove the quotient rule
3+7=10

differentiation.

SRR 2o RIRCE! forr s e #

1-21/51 ( Turn Over )



e e

(e)

1-21/51

(10 )

A firm has the following total cost and
total revenue functions :

A TR BT 5 W A T3 S T

()

(i)

(i)

7o i (R :

C=0Q?+40+20

R =200
Is the given cost function more
appropriate as a long-run or short-
run function? Why?
W T NLIAAT 7 T T
f2oret @R ercamey 2 o 9
Find the profit maximising
output.
W =S SRRt Teoime iy 307 |
Find maximum profit. 1+1+4+4=10
TS o1 el < |
Given the Marginal Cost (M()

(i)

function MC=0Q2%_-4043 Find
the Total Cost (TC) function, if
C =10.

AT I (MC) v oy R
MC=0Q%-40Q+3. 3ff c=10 2, 15
I (TC) I Fo=c81 By |

( Continued )



(11 )

(ii) Obtain the producer’s surplus,
given  the supply function
Q, =-3+2P, when price = ¥ 6.

O, =-3+2P GO TR o
oo g fRefy 1 M W 6 5 W |

* k%

121
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ECONOMICS

Paper : ECO-RC/HG-1016
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
wero gl e Teq fial
(a) Define marginal utility.
AIfeF TR Jiget o |
(b)) What is production function?
Tt o 2
(c) What is joint demand?
I oI 2
(d) Give one exception of the law of demand.
wifdm R @bt fee fofx |
() What is income elasticity of demand?
TR o g {2
() Define market.
TR AT o7 | | |
(g) Draw a perfectly elastic supply curve.
- oy RS @ (@41 GO S

1-21/20 ( Turn Over )



(2)

(h) What 1s income effect?

o R gfere & 3@ ?
(i) What do you mean by internal economies
of scale? ‘
oA SHtAfes feufier e ¢ 3@ ?
() What is indifference curve?
fRers @ e
2. Answer the following quéstions ) 2x5=10
(a) Write two characteristics of market
economy. '
e ST 751 CafiEy

(b) Give two assumptions of Marshallian
utility analysis.
e RIS BoCAeR o1 SHoTer 1
(c) What is fixed cost?
framfE?
(d) What is a budget line?
qean @91 162

(e) What do you mean by an optimum firm?
1 Afod Jferce & e ?

3. Answer any four from the following
questions : 5x4=20
wore Al 2ped R e BiieR e fers

(a) Distinguish between market economy
and planned economy.

wR WA R cRehe @i ok
(YT |

1-21/20
/ ( Continued )



(3)

(h) Why does the demand curve slope
downward?
S @ R e =0 ?

(c) Show that two indifference curves cannot
intersect each other.
orgeql @ Yo fAReeT @A @foe For
FRI IR |

(d) What is opportunity cost? Discuss the

economic importance of opportunity cost.
| 2+3=5

S I PR @M1 ? e IS AT

1&eRf SICAs 90 |

(e) Distinguish between market price and
normal price. i
IER T4 E FeIRE 794 N4 (.87 |

() Explain the factors affecting shift in the
supply curve.

@ @R EAE 2o RER I SAMRR

Ao 941 | -

4. Answer the following questions (any jfour) :
10x4=40
ot o eppiges Sed fran (R et oif<en)
(a) Explain, according to Marshall, the
economies of scale in production.

CEAT W@ Teomag wAtos feier Raw
S 41 |

(b) Explain price output determination under
perfect competition in the very short-run.
o ARSFPETTF TR TS FFFETS 74 HIF
TeAA R R0 40

1-2
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(4)

(c) State and explain the law of demand with
the help of a diagram.

sifew R o s foad @ 1 w1 |

(d) Explain critically Pigouvian welfare
theory.
Prag o ©gd A STICERANRE <0
S5CeT |

(e) Explain the properties of indifference
curve.
fAeers @I CIPEPTR TR <41

() Explain the law of variable proportion
with the help of a diagram. State its

assumptions. 7+3=10
RS TS e foax s W 91 |
2R SRR ford |

(g) Explain the shutdown position of a
business firm with the help of a diagram.

[T ARSDR ol IR S7F] oG F=I© [
Il

(h) What is price elasticity of demand? What
are its determinants? Discuss. 3+7=10

oI W fEfegemel 60 T ez
& 2 SCEs 41 |

* K Kk
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